Worksheet : Law of tangents
(1) 
The law of tangents states that :
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Proof



From Sine Law, we have  
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Therefore    
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(2) 
Example


Known 

: 
a = 34,  b = 22,  C = 42o .

Unknown 
: 
A, B, c .


Form

:
Two sides and included angle (SAS)


Solution :
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From the Law of tangents , 
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(2) + (3),

A = __________


(2) – (3),

B = __________


By  Sine Law,
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(3)
Exercise

Use Cosine Law and Sine Law to check the results of the example .

Law of tangents

(3) 
The law of tangents states that :
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Proof



From Sine Law, we have  
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Therefore    
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(4) 
Example


Known 

: 
a = 34,  b = 22,  C = 42o .


Unknown 
: 
A, B, c .


Form

:
Two sides and included angle (SAS)


Solution :
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From the Law of tangents , 
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(2) + (3),

A = 98.17171o .


(2) – (3),

B = 39.82829o .



By  Sine Law,
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(3)
Exercise

Use Cosine Law and Sine Law to check the results of the example .
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